YCTHbLIM cYeT

[MpencraBb YMCNO B BUAE CyMMbI
pa3psaaHbIX crlaraembix.

265 =2 coT.+ 6 gec.+ 5 en.
695=
123=[ B )
254=
/59=




PaccmoTpute npumepsil:

3+4= 60+10= 100+400=
5+1= 30+15= 700+200=
9-2= 70-50= 600-500=
6-3= 40-30= 900-300=




Tema ypoka:

[IpreMbl YCTHbIX
BbIYUCIMEHUN B npegenax
ThICAYN

{




Llenb ypoka:

-
Hayuntbca NnpUMeHaTb -
MPUEMbIl YCTHbIX I
BblYMCIIEHUN en

o



[lpoBepbL cebs

308cM=3M 8cm
3M 70cm=370cm
45MM=4CM SMM
15am 8cm=158cm.



“CBeTodop” .

Bbino TpyagHo.

3aTpyaHANCcs, Hago
NOBTOPUTbL.

Bce nerko v npocrTo.




